Alan has 45 beans.
He plants 3 beans in each of his pots.

How many pots does he need?

Leila puts 4 seeds in each of her pots.
She uses 6 pots and has 1 seed |eft over.

How many seeds did she start with?

pots

1 mark



Rob has some number cards.

He holds up a card.
He says,
If I multiply the number on this card by 5, the answer is 35°,

What is the number on the card?

He holds up a different card.
He says,
I I divide the number on this card by 6, the answer is 47

What is the number on the card?




